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 10 × 1 = 10 

1.  

 (A) 1s2 , 2s 2 2p 6 , 3s 2 3p2   

 (B) 1s2 , 2s 2 2p 6 , 3s 2 3p3  

 (C) 1s2 , 2s 2 2p 6 , 3s 2   

 (D) 1s2 , 2s 2 2p 6 , 3s 2 3p 4  
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 (A)  

 (B)  

 (C)  

 (D)  
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 (A)  

 (B)  

 (C)  

 (D)  
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 (A)  
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 (A)  
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10.  

 (A) C 2 H2  

 (B) C 2 H 4  

 (C) C 6 H6  

 (D) C 2 H6  

 3 × 1 = 3 
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14.  A B 

 4 × 1 = 4 

  A  B  

 a)  (i) C 4 H10  

 b)  (ii) C3 H 4  

 c)  (iii) C3 H6  

 d)  (iv) C6 H6  

   (v) C 4 H8  

   (vi) C 4 H6  

   (vii) C2 H2  
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 4 × 3 = 12 
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32.  

 (a)  (b)  

33. (a)  

 (b) 

 3 × 4 = 12 

34. (a)  

 (b)  
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 (a)  (b)  (c)  
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 (A)  

 (B)  

 (C)  

 (D)  
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 (D)  
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 (A)  

 (B)  

 (C)  

 (D)   
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  A  B  

 a)  (i)  

 b)  (ii)  

 c)  (iii)  

 d)  (iv)  

   (v)  

   (vi)  

   (vii)  



 RR+PR 11 83-K 

  

 
 
 
 
 
 
 

12104 RR + PR-511 [ Turn over 

 4 × 1 = 4 
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 (a)  (b)  


